H & 0l & AHS B Ml A

SA ARIEH
M CAl=3
Eel: TAISSIAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ar Bt 15,384,929 22,774,502 AT,389,573
= 3,610,449
[ 630,000
= 3,046,119
Ea 8,098,361
CAI=E 620,650 3,934,200 A\3,313,550
< 150,000
= 470,650
CAISSAY 620,650 3,934,200 A3,313,550
= 150,000
= 470,650
JRIEEEEZAIIMD] 203,700 446,920 N243,220
201 Ler=23 | 4,160 5,120 A960
01 AlR 21| 4,160 5,120 960
oiRIee X e
8,000& x4& 130 4,160
202 04| 4,640 4,800 A160
01 =LHOHI 4,640 4,800 A160
o=l U2 =
20,0003 4 582 4,640
203 HR=H] 3,400 4,000 2600
03 A=A =AY 3,400 4,000 2600
ofte AIRHR = 850,000& *4= 7| 3,400
207 ARl 20,000 18,000 2,000
01 g S| 20,000 18,000 2,000
o MXIEHBAIAE FHI| 20,000,000 20,000
401 Al HIZ R0 171,500 415,000 A\243,500
01 Al&HI 170,000 415,000 245,000
o=zl ¥ &5 50,000,000 50,000
cdEsd=s 72
10,000,000 *8IH 2~ 80,000
cZAANEZ FA2c
16,000,000 *2.5km 40,000
03 AlE S THYI 1,500 0 1,500
o JBELHZEZAIRI =&
1,500,000 1,500
Zelsd x4 ¢ 2l 108,400 129,900 21,500
201 er23 | 27,600 28,700 21,100
01 At2teltl 5,500 6,600 21,100
oZd =32c| 4l Xt
500,000 x5 2,500
oZ¥ el ARE S 7
250,000& * 122 3,000
2 35244l 22,100 22,100 0
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SA: A EER D
M TAl=35
Eel: TAISSIAY (SH9 H2)

K- BE - E9I(EH) - HRAR - BaS A HIDEZ
oZR & - IS A
400,000 12& 4,800
ozd MILs 400,000 12& 4,800
o3 B
250,000 23] 500
oBHALE KX
1,000,000& 123 12,000
202 04t 800 1,200 2400
01 =LHOHI 800 1,200 2400
SEuel:] 20,0008 x2& »20 800
401 AIEHIH 20HH 80,000 100,000 220,000
01 AlZ28| 80,000 99,000 19,000
oaZAT L B
40,000,000 *2IH 2 80,000
AHAM=LEXE 8,550 10,500 1,950
301 EtE NS 2,550 3,000 A450
11 dALEEIXIZE S 2,550 3,000 A4S0
SUYUSAL WS 85,0002 *30H 2,550
307 2I2t01 & 6,000 7,500 21,500
02 2IZHBYAIHE A 6,000 7,500 1,500
o JHZAK Ul !
100,0002 30 3,000
oZY YUSBHX R
100,000 *30& 3,000
CAlE 2 - dEse EAL) 300,000 300,000 0
= 150,000
o 150,000
401 A& HIX R0 300,000 300,000 0
= 150,000
o 150,000
01 A28l 299,100 299,100 0
oMEEAE &Y 299,100,000 299,100
== 149,550
o 149,550
03 Al 20HHI 900 900 0
cdEsd=s X4 =X
900,000 900
= 450
o 450
g8 HOISE gAY 432,575 335,271 97,304
Z28d oiEd 22 24 432,575 203,271 229,304
HEY diotEd 2l 432,575 203,271 229,304
101 @124H| 137,821 138,668 N84T
M ORIMZZ2NSE S 137,821 138,668 N84T
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2A:

I P HOHESY T
Ciel: mEl HOIEY 22 2% (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
N NEEENEEIERET
78,8802 x 152 162 +63] 113,588
odHE Ald=2c S UFY
78,8803 x2& 60! 9,466
o4l 2= 123,054,000 *12% 14,767
201 el 25,254 26,003 AT49
01 At2t2ltl 4,848 5,848 21,000
oEEE & ot MF 1,500,000& 1,500
oMJ| SEHSE (750)
1,040 %1000K* 122 1,248
oZEIEA 2 A2E (BSEX S)
150,000& * 102 1,500
oI A I MR
5,000 10122 600
2 s5=34l 20,406 20,155 251
cMIIRz 700,000 * 122 8,400
odotX HA 12,500 *70E*12] 875
oML H HIZAR)| S RFU
1,739 %150 £ =123 3,131
cAldael H =X
5,00024%1,600m* 8,000
206 MH=H| 67,500 36,000 32,500
01 M=4l 67,500 356,000 32,500
oHHSYM <Al 5,000,000 5,000
oXZIUCIE M2 25,000,000 25,000
oH0IEE 2AE &0
25,0002 *1,5005= 37,500
401 AIEHIX SO 202,000 202,000
01 Al&H| 200,000 200,000
oHIOIS3 F20HE At
200,000,000 *1IH £ 200,000
03 A& S CHYI 2,000 0 2,000
oHI0tSE F2MHE At 2,000,000 2,000
HEHZ XY 4,198,810 3,688,290 510,520
= 250,000
= 1,676,870
= 2,271,940
=211 Siiots dEgs 32 &4 690,310 819,790 129,480
HEZ 28 I3 MY 540,310 599,790 A\59,480
101 @124H| 158,207 154,970 3,237
M IIRIMZENSES 158,207 154,970 3,237
odd JHJ| elAb|
109, 0002 «32*280 91,560
od& JHRJ| eyl 44 28
91,560,000 *12% 10,988
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A AtglmeRnt
B MEEALA
elr 22 gilots MEs F &4 (SH9 H2)
SA - B CRI(S]) - NISAY - BES A HIm=S2t
oxsiz A 2 HEEY
78,8803 ¥7H 90! 49,695
o=xst®s AT ¥ M= &Y 400 2=
49,694,400 *12% 5,964
201 B2 AL| 14,853 16,820 A1,967
01 At 22|l 9,340 11,120 A1,780
oHABR| YLE D2
8,0002 x3H x 160! 3,840
oHRANS HE U 840 S HX
4,500,000 4,500
oFE X4 N2+
100,000& *5F x23| 1,000
° ZB2YH| 5,513 5,700 A187
BB 4+2WR| MLE ABE
100,000& x 123 1,200
o28Y FE ®I| 23
200,000& =123 2,400
ocEEY =2l REU
1,739&*100L*11& 1,913
202 (44| 6,000 8,000 A2,000
01 =WOdbI 6,000 8,000 A2,000
omaAB| AL =7
20,0002 *3Z*100 6,000
206 =4l 26,250 30,000 A3,750
01 =l 26,250 30,000 A3,750
oHlES&N zetE A
50,0003 854 4,250
oxx==222|2 HlE 10,0003 #4255 4,250
ox=2te| A2E 1,275,000& * 102 12,750
o=zl U3 5,0002 *1,000% 5,000
401 A& B 20HY| 335,000 390,000 255,000
01 Al&HI 320,000 370,000 A50,000
oEHEZL =2 AIY 200,000,000& 200,000
oEE2 HilSZH At
15,000,000 & *43] 60,000
o2& L MY M= A
20,000,000& +33] 60,000
03 Al 2 CHYI 15,000 20,000 A5,000
o=2te| IRt
500,000& *x35+10A[ 2t 15,000
JtZ2stEt 22| 150,000 200,000 50,000
401 A& HIZLS0HY| 150,000 200,000 A50,000
01 AlEHI 150,000 200,000 A50,000
ocJt2ste |22 150,000,000& 150,000
23 =oh Y AEE DB RS 3,508,500 2,868,500 640,000
= 250,000
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SA ARIEH
Hu: MEIEERA
Col MRS A U AQIE JERE (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,676,870
s 1,581,630
EEY NUFHIA LA (HEAIY) 3,000,000 1,800,000 1,200,000
= 1,650,000
= 1,350,000
401 AIZHIZ SO 3,000,000 1,800,000 1,200,000
= 1,650,000
Ea 1,350,000
01 AlZ2H| 3,000,000 1,800,000 1,200,000
BB NUHA TN
3,000,000,000& 3,000,000
== 1,650,000
[Ea 1,350,000
MBI HU= 8,500 8,500 0
= 1,870
= 6,630
307 elzto| & 8,500 8,500 0
= 1,870
Ea 6,630
12 2I2EIR & = H| 8,500 8,500 0
cHEUNMEI 2HN=(108)
850,000 %10 8,500
== 1,870
o 6,630
dEaxd =(3d)xd 500,000 1,000,000 A500,000
= 250,000
== 25,000
o 225,000
401 A2 HIZL R 0HbI 500,000 1,000,000 /500,000
= 250,000
S 25,000
o 225,000
01 A28l 500,000 1,000,000 A500,000
o ANB(H=2l) AT
500,000,000 500,000
= 250,000
= 25,000
Ea 225,000
HH=E 3,827,820 8,326,176 A\4,498,356
= 1,458,505
== 430,808
o 1,938,507
LTEA 364,737 1,090,528 AT735,791
= 177,792
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SA ARIEH
Hu: poisel
ol ZEAY (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 33,898
s 143,047
ZHExd 258,352 827,688 A\569,336
= 129,600
== 19,440
[Ea 109,312
201 =3 12,352 11,688 664
01 AlR22IH| 12,35 11,688 664
o=g o9 =7 32|
8,000& 4 =136 4,352
SARY AL EF 2HAY|
8,000,000& 8,000
401 AlZHIZ RO 246,000 816,000 A570,000
= 129,600
= 19,440
Ea 96,960
01 AlZH| 236,000 779,000 43,000
oXgAl A 1,000,000 *30ha 30,000
oZME £4(30ha) 206,000,000 206,000
= 123,600
= 18,540
Ea 63,860
02 Zeltl 7,000 27,000 220,000
oFMNEXd 2l 7,000,000& 7,000
= 4,200
= 630
Ea 2,170
03 AlESTHYI 3,000 10,000 A7,000
oFNE =4 20| 3,000,000& 3,000
= 1,800
= 270
Ea 930
ZUHRxE 96,385 96,378 7
= 48,192
= 14,458
Ea 33,736
401 AlZHIZ 01| 96,385 96,378 7
= 48,192
= 14,458
= 33,735
01 Al&H| 94,385 92,378 2,007
oZBAxg(5ha) 11,650,000 *5ha 58,250
= 29,124
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A ARiEe
Hu: poisel
Rl A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 8,738
s 20,388
SINE W EINES=TE =)
12,045,0002 *3ha 36,135
= 18,068
== 5,420
= 12,647
02 Zeltl 2,000 4,000 /2,000
o2 xE(8ha) 250,0002 +8ha 2,000
= 1,000
S 300
= 700
=AY 2,558,928 3,432,309 A\873,381
= 1,280,713
S 367,797
= 910,418
=020 2,100,306 2,837,728 ANT37,422
= 1,050,152
< 314,974
[Ea 735,180
201 Ler23 | 25,000 30,000 25,000
= 12,500
=S 3,750
s 8,750
01 AtR2te|Hl 20,000 20,000 0
omIiRIl MAEHel LXEH S
20,000,000 20,000
= 10,000
=S 3,000
s 7,000
02 35244l 5,000 10,000 25,000
cttEdd MIR=s S
500,000& *102] 5,000
= 2,500
== 750
o 1,750
401 Al HIZL 201 2,075,306 2,807,728 ANT32,422
= 1,037,652
s 311,224
s 726,430
01 Al&HI 1,865,306 2,597,728 ANT3R,422
o A2 012 5=t 01(100ha)
3,797,000& *100ha 379,700
= 189,850
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2A:
T ZH -
o e

Sk

Y

U

M 18
£

=0 e
ov

~
>
e

It
x

- ZF - HRA(3AH) - MRAY

- HyS

Ofl &F2H

HMEE
Ofl &k2h

=220 (55a)

o0& LHR IR (150ha)

o X XIZHI21(400ha)

o XX =K H(330na)

02 Zeltl
o= ItRI| AY Zel(1,085ha)

03 Al = THHI
o=IIl At SO

3,512,840 55ha

1,735,6802 *150ha

1,148, 1802 *400ha

1,735,6802 +330ha

A H

HoH W

Mo W

Mo W

Mo W

200,000,000&

MW

10,000, 0002

MW

56,955
132,895
193,207

96,603

28,909

67,69

260,352
130,176
39,053
91,123
459,272
229,636
68,891
160,745

572,775
286,387

85,916
200,472
200,000

200,000
100,000
30,000
70,000
10,000
10,000
5,000
1,500
3,500

200,000

10,000

OISR SAEIHRI]

Mo W

311,881
155,940

31,188
124,753

271,200

40,681

401 AIZHIZ 20

Mo

311,881
155,940

31,188
124,753

271,200

40,681

01 Al&H|
SO RIMZ 22=t3101(115ha)

2,494,610+ 115ha

hoH

286,881

286,881
143,440
28,688

246,200

40,681
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K
I-I il—l :
Ct2|:

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

02 Zcldl

S0IMBIXINE St
22,000,000

03 A& S CHYI
SOIMSE X MZ SU=ItR|
3,000,000&

H

Mo W

HoH W

114,753
22,000

22,000
11,000
2,200
8,800
3,000

3,000
1,500

300
1,200

22,000

3,000

ARl MEIAZ Rl EE =00

HoH W

146,741
74,621
21,635
50,485

323,381

A176,640

101 e124d|

MW

124,759
63,630
18,338
42,791

279,507

A154,748

M4 IRHHZ2Z2XSE+

o=IMRIIRHATAE 2H (1Y)
24,407,000& 1Y

500,000& *1H

24,463,000& x4H

500,000 x4H

MW H MW

H

124,759

24,407
12,204
3,660
8,543

500
500

97,852
48,926
14,678
34,248

2,000
2,000

279,507

N154,748

MW

21,982
10,991
3,297
7,694

43,874

N21,892

01 AFR2t2ltl
o=IRIINRAZE

Atet 24

500,000 1

17,982

500

32,874

A14,892
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SA ARIEH
Hu: poisel
Chelr =IRIIAIY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 250
< 75
= 175
SEINRIHEE 29
4,370,500 4% 17,482
= 8,741
s 2,622
s 6,119
2 S5=2g4l 4,000 11,000 A7,000
ox=)HIIHEE 29
1,000,000 x4H 4,000
= 2,000
== 600
[Ea 1,400
AHE AR T EAS 914,155 1,066,339 A142,184
= 29,113
= 885,042
Jles & g2 g2 737,229 851,913 A114,684
101 @12A4H| 176,692 171,943 4,749
MU IIRINZZE2NSES 176,692 171,943 4,749
o2zl 24(8Y)
78,8803 x8&H *250 157,760
cAHEEE 157,760,000 *12% 18,932
201 Ler23 | 14,817 13,770 1,047
01 At2t2ltl 2,600 2,600 0
ollEa Rlol M= =
300,000 x2ZH+13] 600
oJtZa=giel et ZX
100,000 *20H 2,000
02 s3=gHl 12,217 11,170 1,047
otz & 52 7&U
1,739 +3,0002| £ 5,217
oJtz24 il =H 400,000 107K 4,000
o2 1 MRS
300,000 %10 3,000
202 04| 2,720 3,200 A480
01 2K 2,720 3,200 A480
otz HF =& 20,0002 x1H =136 2,720
206 MH=H| 40,000 40,000
01 MHZH| 40,000 40,000
oJt2= FXl2el Xt
5,0002%2,00074 10,000
oJtz4 EollE LM Al
60,0002 +500& 30,000
401 AIEHIZ SR THYI 503,000 603,000 100,000
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SA ARIEH
Hu: poisel
Chelr MEAREEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 500,000 600,000 100,000
oL Z2H Jt2= 2|
10,0002 +30,000== 300,000
ootdE B2y 2c|
10,00024+20,000% 200,000
03 Al& ST 3,000 3,000 0
ollRa U FRY 4R =X
3,000,000& 3,000
USR8 T4 (HEAY) 15,000 27,500 A12,500
= 12,000
Ea 3,000
401 AlZHIZ S 0HbI 15,000 27,500 A12,500
S 12,000
o 3,000
01 AlZ2H| 15,000 27,500 A12,500
oIR8 A 15,000,000& 15,000
== 12,000
o 3,000
GEEA S 230I8 75 20,000 20,000 0
= 6,000
= 14,000
401 AlEHIZ 201 20,000 20,000 0
= 6,000
Ea 14,000
01 A28l 20,000 20,000 0
oARIEIA B4l BRI|E 1
10,000, 000& x224 20,000
== 6,000
o 14,000
CAI=sRI 2|3 (HEAIY) 22,226 22,226 0
= 11,113
= 11,113
101 e124d| 22,226 22,226 0
= 11,113
[Ea 11,113
04 JIZtNZ22 NS+ 22,226 22,226 0
o Al=sX2c|d oY
22,226,000& 1 22,226
s 11,113
s 11,113
A B S A= 22,200 22,200
201 er23 | 7,200 7,200
2 35244l 7,200 7,200
oltHFEAE tUE 600 *12,0007H 7,200
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S ARIE D
Hu: poisel
el AR ZLEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 15,000 15,000
01 Al&H| 15,000 15,000
ofte A 29 (600ha)
15,000,000& 15,000
33 25 Azl 2,500 2,500 0
201 ger=3| 500 500
01 AtR2te|H] 500 500
oltct® R=s 25 82
250,000 23] 500
206 MH=HI 2,000 2,000
01 MHZHI 2,000 2,000
ofz3t REAY 100,000 +20H 2,000
223 2el 10,000 20,000 10,000
401 AlEHIZ S 0HbI 10,000 20,000 10,000
01 Al&H| 10,000 20,000 10,000
oAHE 2 10,000,000 10,000
dds 28 FA2c 45,000 50,000 /5,000
401 Al HIZ R 0HbI 45,000 50,000 /5,000
01 AlZ8| 45,000 45,000 0
o¥ds Zad 2 45,000,000 45,000
A2 MollRed= HA 40,000 40,000 0
401 Al HIZL 201 40,000 40,000
01 Al&H| 40,000 40,000
oMBMTH THHPAHS MHAIS
40,000,000& 40,000
DU EEON 5,410,912 6,118,257 A707,345
= 1,655,607
= 630,000
& 779,081
= 2,346,224
SR R DRl s 3,549,172 4,251,178 A702,006
= 907,052
[ 630,000
= 516,418
o 1,495,702
GHEES 8RR A 107,290 189,560 ~b2,270
201 fet= 3| 71,130 76,560 A5,430
01 AtR2te|H] 63,040 72,320 29,280
ottEEs E2E MA
100,000 *80IH A 8,000
oitE2Z2f= 1Y 160,000 *300& 48,000
SHEEE ALEX Iy
8,000 3 »100! 2,400
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SN AR B
B2 NRATHHE X
e AEEE|E Ry (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SUEHINZR 29 32|
8,000 x424x 1452 4,640
02 2=2H| 8,090 4,240 3,850
oUERALABHE HIIR3
50,0002 #4H A 1228 2,400
cUERS BHAAY SHS
30,0002+ 1374 1,600
oltE YR WIIF ®II23
500,0002! 482 4,000
202 O1H| 2,160 3,000 £840
ENTT] 2,160 3,000 £840
olERS YREX
20,00021x32 « 362! 2,160
401 A& HIL2HY| 34,000 80,000 246,000
o1 Al&t] 3,000 80,000 46,000
olHE ROIAAl 2 RIS
2,000,000 x4 4 8,000
olhE0IY o TSHEHI(REY) T2
2,000,000 13CH 26,000
AT IS (MEH ) 900,000 460,000 450,000
2 630,000
= 54,000
2 216,000
401 A8 2 20H| 900,000 450,000 450,000
2 630,000
< 54,000
2 216,000
01 Al&t] 860,000 435,000 425,000
o Q= Al (2Het2km) 860,000, 0002 860,000
2 602,000
= 51,600
= 206,400
02 22| 27,000 10,000 17,000
cUATAIE 22| 27,000, 0002 27,000
2 18,900
= 1,620
= 6.480
03 Al = CHb| 13,000 5,000 8,000
SYTAIE AL} 13,000, 0002 18,000
2 9,100
< 780
2 3,120
UTAIE (2N (DEAY) 161,428 207,500 A46,072
= 117,843
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A ARiEe )
S Ao X
e AEEE|E Ry (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 43,585
101 @1A4H| 27,000 28,000 21,000
=S 19,710
s 7,290
04 JIZtN2Z2XNSE 27,000 28,000 21,000
o2 13,500,000 2 27,000
< 19,710
Ea 7,290
201 er23 | 1,571 2,000 A429
= 1,147
o 424
01 AtR2te|Hl 1,571 2,000 AN429
oy acHE 2 1,571,000& 1,571
= 1,147
o 424
401 AIEHIZ SR HYI 132,857 177,500 AN44,643
[ 96,986
Ea 35,871
01 Al&HI 116,157 160,800 N44,643
oYX 116,157,000 116,157
= 84,795
= 31,362
02 Zeltl 6,700 6,700 0
oY AE 2L 6,700,000& 6,700
= 4,891
o 1,809
03 Al 20HHI 10,000 10,000 0
oY AIZAIY F& 10,000,000 10,000
< 7,300
= 2,700
a2 & 2 207,400 225,000 A17,600
401 Al HIZ S 0HbI 207,400 225,000 A17,600
01 Al&H| 194,400 218,000 A\23,600
odrEa & FAlZ
2,180,000 *80km 174,400
oy d FHl 89 20,000,000& 20,000
02 2l 10,000 5,000 5,000
o A RX2Ae|(Hel)
10,000,000 10,000
03 A2 2 0HYI 3,000 2,000 1,000
cUEES & FA&AL F
3,000,000 3,000
AEMHAERD-EZ HE X SAHHEALY) 22,700 22,226 474
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SA ARIEH
TE: NETHLK
&2l AEFEI|E RS (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 11,350
s 11,350
101 @124H| 21,700 21,226 474
= 10,850
= 10,850
MU IIRIMZZENSES 21,700 21,226 474
o=dSAATA 21,700,000 1 21,700
= 10,850
o 10,850
201 et 3| 1,000 1,000 0
S 500
o 500
01 At22t2ltl 1,000 1,000 0
omdSMAEA 29 1,000,000 1,000
= 500
= 500
L XL AC-YER SAZ FHI(HEAIY) 290,000 104,000 186,000
= 145,000
o 145,000
401 Al HIZ S 0HbI 290,000 104,000 186,000
s 145,000
s 145,000
01 Al&HI 265,000 100,000 165,000
SMEH SR FHAI
265,000,000 265,000
S 132,500
= 132,500
02 Zeltl 20,000 3,000 17,000
oSttZ FHIAIY 2elES
20,000,000 20,000
=S 10,000
s 10,000
03 Al 20HHI 5,000 1,000 4,000
oMEBA SHZ BHAY XX
5,000,000& 5,000
= 2,500
= 2,500
Sttz =8 gyl 232,000 212,000 20,000
401 AIEHIX R0 232,000 212,000 20,000
01 A28l 220,000 200,000 20,000
oS4&2 EHI71(85.3km) 100,000,000 100,000
oSHE AMdEs 100,000,000 100,000
o=d 2HEY 20,000,000 20,000
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2A:
KEH
ool

-

0N g g

Xz
ok =8
02 &t T

0L &

-v——l—

E
>.

iI

IR -T

SRA(3H) - ARANY -

Ofl &F2H

HMEE
Ofl &k2h

S
oM
o
=5

i

I &el

on
[
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10,000,000&

2,000,000

10,000
10,000
2,000

2,000

10,000

2,000

>
0z
>
1%

MW

,254,824

878,374
188,225
188,225

1,644,451

A389,627

401 AlEHIYL S THYI

MW

,254,824

878,374
188,225
188,225

1,643,821

A388,997

01 A=l

cHEEHA

o AXIAFZ ALY

SMNTAIY 228 H

0
>
I
0Q
ro
el
A
i

SR

0
ne
02
oY

176,090,600 *3km

Mo W

250,000, 0003 %204 2~

Mo W

81,000,000& *10H A~

Mo

220,000 *90H 2

HoH W

1,218,400 #1500 2

HoH W

2,716,000 67 2

HoH W

7,000,000 +87H 2

Mo

,201,824

528,272
369,790
79,241
79,241
500,000
350,000
75,000
75,000
81,000
56,700
12,150
12,150
1,980
1,386
297

297
18,276
12,792
2,742
2,742
16,296
11,406
2,445
2,445

56,000
39,200
8,400
8,400

1,600,821

A398,997
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SA ARIEH
S Ao X
e AEEE|E Ry (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 Zeltl 50,000 40,000 10,000
oAt ALY 22l 10,000,000 *57H 2 50,000
= 35,000
< 7,500
[Ea 7,500
03 A& S CHYI 3,000 3,000 0
SAIFAIE =& 3,000,000& 3,000
= 2,100
S 450
2 450
AHALER TOHK =7 125,000 115,000 10,000
401 Al HIZL 201 125,000 115,000 10,000
01 Al&H| 110,000 100,000 10,000
S AFAMEH TIGHAI S AMS
10,000, 0002 * 1091 £ 100,000
SAZTHOHIIGHKIZAHSE, ALAE] S)
1,000,000 * 1000 2 10,000
02 2l 10,000 5,000 5,000
o APAFER TIGHAI S+At (Zel)
10,000,000 10,000
03 A2 2 0HYI 5,000 10,000 /5,000
S AFAMER TIGHAI S AMY 5,000,000& 5,000
AHALEH R XIS AEI AL 32,900 0 32,900
= 16,450
s 16,450
401 AIEHIZ SR OHYI 32,900 0 32,900
= 16,450
Ea 16,450
01 Al&HI 32,900 0 32,900
SAHALE RAXIS AEHEAL
700,000 *470H 2~ 32,900
= 16,450
o 16,450
AHEESAIE 185,060 64,001 121,059
101 212A4H| 60,960 43,001 17,959
04 JIZtN2 2N S 2 60,960 43,001 17,959
oNtEEAIE 2| 22|
78,8802 x3H #2302 54,428
obtgEAAL 2L 40 28
54,428,000 *12% 6,532
201 Ler=23 | 19,600 21,000 21,400
02 S3=4gl 19,600 18,600 1,000
oA B H
500,0008 x7 523 7,000
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SA ARIEH
i MR
SR AENAES (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
101 @124H| 116,593 116,745 A152
= 58,297
== 17,486
[Ea 40,810
04 JIZtN2Z2 S8+ 116,593 116,745 A152
SOIZEHT 01218 (52)
23,318,600 +5& 116,593
= 58,297
== 17,486
o 40,810
201 er23 | 11,000 8,200 2,800
= 5,500
== 1,650
o 3,850
01 A2l 6,000 3,200 2,800
CHEYHS 29 257
6,000,000 6,000
= 3,000
s 900
s 2,100
02 3224l 5,000 5,000 0
SHELNE 28 FFHI 5,000,000 5,000
= 2,500
s 750
s 1,750
AHETHO L Xt EI(MEXS0ILEISITH) 623,940 609,466 14,474
= 249,575
=S 112,308
= 262,057
101 e124d| 600,426 585,952 14,474
= 240,170
= 108,076
Ea 252,180
04 JIZtNZ22 XS 2+ 600,426 585,952 14,474
SHMEM20LESNHA(38Y)
78,8303 x38H 180! 539,540
= 215,816
= 97,117
Ea 226,607
SMEMZUHEESUE EE=
45,686,000 45,686
= 18,274
= 8,223
o 19,189
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SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 3,450 3,660 A210
= 1,380
== 620
[Ea 1,450
01 =LHO LI 3,450 3,660 A210
ot EdSHESH 25,0002 »138H 3,450
= 1,380
=S 620
s 1,450
308 XXM SOIA 193,720 228,683 A34,963
07 AX L FE= 193,720 228,683 N\34,963
obt=dEolY W & Eot
396,000& 62 2,376
SRl 191,344,000& 191,344
401 Al HIZ S OHbI 11,700 61,400 A\49,700
= 4,680
= 2,106
o 4,914
01 Al&H| 11,700 61,400 A\49,700
oSS RIARE HIH 11,700,000& 11,700
= 4,680
== 2,106
= 4,914
A EXICH (K= A1) 4,420 20,900 116,480
= 1,768
S 796
= 1,85
201 er23 | 4,420 3,900 520
= 1,768
S 7%
[Ea 1,85
2 S52g4l 4,420 3,900 520
CoAESMEZHAIAY SAZ(34U)
4,420,000 4,420
= 1,768
== 7%
o 1,85
AEM20URSHH 2EXRAL(ZHI) 74,146 0 74,146
= 37,073
= 37,073
101 @124H| 74,146 0 74,146
= 37,073
Ea 37,073
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SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORIMZZ2NSE S 74,146 0 74,146
U= M2 YL S
10,8402 382180 74,146
= 37,073
Ea 37,073
YAl A ZA5 2,000 0 2,000
== 600
o 1,400
301 22N = 2,000 0 2,000
== 600
= 1,400
14 IIEt2 8= 2,000 0 2,000
SAZYT AlD EAS
200,000 %1024 2,000
= 600
Ea 1,400
2otENE Al 103,009 93,143 9,866
= 68,148
= 10,458
[Ea 24,403
401 AIEHIX R0 103,009 93,143 9,866
= 68,148
== 10,458
= 24,403
01 Al&HI 92,009 88,343 3,666
oY Z AN LHRFAHS1ha)
2,015,202 +31ha 62,474
= 43,278
S 5,759
= 13,437
oL Ente| LIR3=AH20ha)
9243502 *20ha 18,487
= 11,429
= 2,117
= 4,941
o&Ltg XA (20ha) 176,8002 *20ha 3,536
= 1,848
= 506
= 1,182
o & =Lt+2H(20ha) 173,2002 *20ha 3,464
= 1,781
S 505
= 1,178
=J|EtE & (10ha) 184,000 *22ha 4,048
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SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,112
=S 581
s 1,35
02 22/l 10,000 4,000 6,000
o BtHN S 10,000,000 10,000
= 7,000
=S 900
s 2,100
03 Al 20HHI 1,000 800 200
otH S =& 1,000,000& 1,000
= 700
=S 0
s 210
HeEg 2l 459,026 397,343 61,683
= 327,023
=S 38,601
s 93,402
401 Al HIZ R 0HbI 459,026 397,343 61,683
= 327,023
= 38,601
o 93,402
01 A28l 436,026 385,343 50,683
oIl IALS HMIH 98,5112 %1,939=2 191,013
= 133,709
= 17,191
= 40,113
cEZXelS =& (2,40
111,400,000& 111,400
= 77,980
= 10,026
o 23,3%
oA Z AHEHIA 108,479&x219= 23,757
= 16,630
= 2,138
o 4,989
oM SLIR AL 2,853,028& x35ha 99,856
= 82,604
= 5,176
= 12,076
ocAUSMEEE SSHOI MAHAE
50,0003 »200= 10,000
== 2,000
o 8,000
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SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 Zeld| 20,000 10,000 10,000
oMEESE LHA 20,000,000 20,000
= 14,000
< 1,800
[Ea 4,200
03 A& S CHYI 3,000 2,000 1,000
oM&EEE LHAIY A 3,000,000 3,000
= 2,100
< 270
[Ea 630
ALRF 0ISHS 46,900 91,240 N44,340
= 23,450
< 7,035
[Ea 16,415
101 e124d| 35,900 80,240 N44,340
= 17,950
=S 5,385
s 12,565
04 JIZtN2 2N S 2+ 35,900 80,240 N44,340
o AURROISESEE Q121H((49)
8,975,000& »4H 35,900
= 17,950
= 5,385
o 12,565
201 =3 11,000 11,000 0
= 5,500
= 1,650
o 3,850
01 AtR2te|HI 10,000 3,000 7,000
o0|stE 2234l 10,000,000& 10,000
= 5,000
= 1,500
Ea 3,500
02 S3=gHl 1,000 8,000 AT7,000
o0lstHEE RFHl S 1,000,000& 1,000
= 500
= 150
Ea 350
254+ FHl 170,000 190,000 220,000
== 30,000
o 140,000
401 A2 HIRL R 0HbI 170,000 190,000 /20,000
< 30,000
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A ARiEe )
B MR
ool AENEES (el mg)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
[Ea 140,000
01 AlZ2H| 167,000 187,000 /20,000
oHsA £ FHSATY|
50,000,000 50,000
oEss MIR)|ls STAMY
3,900,000 «30== 117,000
= 29,250
= 87,750
03 AIZ2THYI 3,000 3,000 0
oEE: MRS STAIY EA
3,000,000 3,000
s 750
s 2,250
A HDIE H™el 20,000 20,000 0
401 AlEHIZL S0 20,000 20,000
01 Al&H| 20,000 20,000
o4 HDIEXC ESHI
250,000 x20m* *43] 20,000
SMEHAS 815,669 294,450 521,219
= 246,337
= 9,360
o 569,972
AHEHAS ALY 815,669 294,450 521,219
= 246,337
= 9,360
o 559,972
LUSHESXE(EX) 40,000 35,3% 4,605
= 16,000
& 4,800
= 19,200
307 lztol & 40,000 36,3% 4,605
= 16,000
< 4,800
[Ea 19,200
02 LB HANHEE 40,000 35,3% 4,605
cdits B XA(ZHAX, HEY, ™
Xl 8) 40,000,000 40,000
= 16,000
== 4,800
o 19,200
LS AZ XA (KA 26,000 0 26,000
307 glztol & 26,000 26,000
02 2IZHBHAIHE £ 26,000 26,000
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SN ARBMD
Im: ARIAS
Rl AEAS ALY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 25,000 25,000 0
= 10,000
= 15,000
02 QAHRH2AIL 2 (01X THR) 25,000 25,000 0
SARRSMACIT (Y, B, AHYZY,
HORS, HdotleA §)
25,000,0002 25,000
= 10,000
i 15,000
SEME OIS =2 52,840 49,520 3,320
201 2= 8,280 3,000 5,280
01 AtR2telbl 4,680 3,000 1,680
SAEMEIS £RSE 2,640,000 2,640
SAEMEOIE Y2FX S|
8,000 x3& »85 2,040
02 S3=gHl 3,600 0 3,600
SAEMEIDIS A4E AISE
100,000 «12& 1,200
o AEMEIOIS MII23
200,000 122 2,400
202 04| 2,560 1,520 1,040
01 =LHAHI 2,560 1,520 1,040
SRS E O 20,0002 *424 5322 2,560
401 A& HI S 0h| 42,000 45,000 3,000
01 AlIZHI 39,000 40,000 21,000
SAZEMEOIE KA
13,000,000 *3JH A 39,000
03 A& CHYI 3,000 5,000 22,000
SAEMEIDIS SXIB2YSP X
3,000,000 3,000
Bl a5 Sa=E |4 85,000 100,000 /15,000
402 212t X201 & 85,000 100,000 /15,000
01 QIENF 2 AL E (XM THR) 85,000 100,000 A15,000
SEIAS a2 XFAY(DS, BX, 4
ARHH S) 85,000,0002! 85,000
SICIOIXIZE XA 150,000 150,000
206 =4I 150,000 150,000
01 M=l 150,000 150,000
STLINXS N3 ME 7Y
1,500 %100,000m 150,000
ool TAXNFIE Al 2,641 0 2,641
= 2,641
201 =3 2,392 0 2,392
= 2,39
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2A:

ma: wElas
&Rl AEAS A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 2,3% 0 2,3%
cYYNET AN 2Y A2F 79
2,392,000& 2,392
= 2,392
301 EtE NS 249 0 249
= 249
11 #AIAHIXIE S 249 0 249
oYYX=E= UF 24| 249,000 249
= 249
HY2E P (A EHEDL) 78,493 77,858 635
el 2| 49,952 52,891 A2,939
el 24| 49,952 52,891 A2,939
101 @124H| 49,952 52,891 22,939
01 &= 49,952 49,952 0
S A2 Al
11, 1302 x 17 +22A1 24+ 123 49,952
Jl=23H 28,541 24,967 3,574
Jl=23H| 28,541 24,967 3,574
201 er2 3| 23,381 19,927 3,454
01 AtR2t2|HI 22,450 18,700 3,750
oLIXAESAD| E
250,000 *x2CH*52] 2,500
o2E=EAD| & 22y B
250,000 *4LH*42] 4,000
oSAEIl 7Y 25,0002 * 165t Ax 12 4,800
cdysE 7 1502 *5,0000H 750
SHEASE 4,800
-S2Xl 20,0003 52 * 122 1,200
NN 15,0002 x20= * 12 3,600
oAFH I M
5,0008 205122 1,200
<JIE ARES F-
20,0002 x105+ 122 2,400
o= A ==l 400,000 ~2CH 800
oIelE )| el 300,000 *4CH 1,200
02 S3=gHl 931 1,227 A29%6
oREEZ (L) 4303 +4004 172
oRERS(SII) 2,530 3001 759
203 g4l 5,160 5,040 120
M EA2HER=AH 5,160 5,040 120
=302l =t
(400,0002+(5,00024+6H ) )« 122 5,160

_482_




